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(iti) TS & — J97 G&T 1 & 20 Tgascd1d JhR & I97 & | IA% J97 1 3% F1 8 |

(iv) TWIEE - §o7 G&IT 21 G 24 31T TG-370F JHR & J97 & | T4 F97 2 3] 7
& | 57 Jo1 %71 IR 40 53] @ 37fer 787 forar ST =ifay |

(v) TS T- ¥ G&IT 25 G 29 TY.370F JHR & Jo7 & | F4% J97 3 37l T & |
57 Y9 &7 I 60 YI=5] @ 371 78T for@r FrET ey |

(vi) TWUT T - J97 &7 30 T 33 FH-3709 JHR & J97 & | IoI% J97 5 37H] &1 & |
57 Y1 &7 I 120 V5] & 3718 787 for@r ST Fiiey |

(vii) TUEF — Jo7 G&I7 34 8 36 HE-3TeNRa/Gia-senia 397 & f7d &7 39997 & |
eI J97 4 3761 FT 3 |

(viii) TUE T F97 G&IT 37 HHIET HIVIA-SEMRT F97 & [57G7 31 9777 & - 37 (a) 3fAz1@
(2 37%) 3R 37(b) - IIT (3 37F) | 3 Fo7 & FT5 B & |

(ix) 3F% S7aR®, &M § 1% ghcaned qieneal & 1o7q %iel a9 gl 37l TR
Yol @ T R T 37 o7 1597 1 8 | 57 Fo7] & IR $aT greanead qiand &

ford |
QUEg &
(Tgfrmedta o) (20x1=20)

1. Tk o ot gfd o fore wrelt ferered st == IS |

forzer =TI HraH T sht e O I BT AT | 1

A) Towfaa (B) foerrasfter

(C) Te-Frue (D) \TEIETS
2. Trfafed o & fore TS 1 ATE forehre garehish aiie @ 2 1

(A) ST (B) TS

(C) TSEIH (D) A
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 37 questions. All questions are compulsory.

(ii)  Question paper is divided into six sections — Section A, B, C, D, E and F.

(iii)  Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each question
carries 1 mark.

(iv)  Section B — Questions no. 21 to 24 are Very Short Answer type questions. Each
question carries 2 marks. Answer to these questions should not exceed 40 words.

v) Section C — Questions no. 25 to 29 are Short Answer type questions. Each question
carries 3 marks. Answer to these questions should not exceed 60 words.

(vi)  Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5§ marks. Answer to these questions should not exceed 120 words.

(vii)  Section E — Questions no. 34 to 36 are Case-based/Source-based questions with three
sub-questions. Each question carries 4 marks.

(viii) Section F — Question no. 37 is Map skill-based question with two parts — 37(a) from
History (2 marks) and 37(b) from Geography (3 marks). This question carries total
5 marks.

(ix)  In addition to this, NOTE that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions

are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Questions) (20x1=20)

1. Choose the correct option to fill in the blank.

World Trade Organisation was started at the initiative of the countries. 1
(A)  Developed (B) Developing
(C)  Non-aligned (D) Communist

2. Which one of the following states has the highest Human Development Index ? 1
(A)  Punjab (B) Gujarat
(C)  Rajasthan (D) Kerala
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3.  IAHIEAT & Skl U GeTod Tl SIS o foarshed o1 == hifSIT | 1
(A) Tt - @
(B) Ty i GEIREGI]
(€) qdrH — A
(D) T — A qTe

4, YA ® grHor gfEm o fTT o Sht STTawereharadt st fAmfafgd 3 @ H9-91 |id ged
31k T & g AT B 2 1
(A) SAEERIS Seh (B) TEhrt wfufaat
(C) ETEHR (D) ARy

5.  Trfafadd @ s-ar et i 3w 61 @ Hid 8 2 1

(A) Tooid S @ uTe oF

(B) W ST & T8 99

(C)  SHSIgR O KT & AT o & § TH &
(D) Qe FsteR i Guly & 919 e

6.  WRJ H USHifer Ial § FUR o [T FAfaRad 7 & H-9T STTexT Halied =mamed
ST ol 2 1
(A) &t I T TSR AT FHUAT AR & |
(B) Tt el Bt TR fed W SAfad B
(C) Tt Srfieaml ol JT-Us ST SATURTTIe: AT ST ST ST S & |
(D) Sl o AT FHTHHTST ohl STATEYT HA o SATGIT ST LT |

7. WRAH foramit SRR st gwad gt & gefid w8t foaehed s = i | 1
(A) e, TE=s, e T STR et Hieaat
(B)  ufcrer, foeeft wet, Sifshr ot g=
(C)  fcrE, SATw, Afirsy TR HiY
(D)  fiream, ==, fqame SR ma o n

8.  sficient # MR # & 81 AT TgHEAT H & ? I
(A) Tt (B) W ¥ o afiret
(C) e aftret (D) s&TE
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3. Choose the correct pair regarding the sectors of economy. 1
(A)  Primary — Mining
(B)  Secondary — Flower cultivation
(C) Tertiary — Fishing
(D)  Secondary — Bee-keeping

4. Which one of the following sources meets the needs of loan of rural households in
India to the maximum extent ? 1
(A) Commercial Bank (B) Cooperative Societies
(C)  Moneylender (D) Businessman

5. Which one of the following is the main source of a bank’s income ? 1

(A)  Money obtained from Reserve Bank

(B)  Money received from demand deposit

(C)  Money obtained as interest on loan from the borrower

(D)  Money received from the property of a defaulting borrower

6. Which one of the following orders has been passed by the Supreme Court to
reform political parties in India ? 1
(A) It is mandatory for all parties to hold organizational elections.
(B) It is mandatory for all parties to file income tax returns.
(C) It is mandatory for all the candidates to give details of criminal cases on
affidavit.
(D)  Issuing orders to regulate the internal working of parties.

7. Choose the correct option regarding the Concurrent List of legislative rights in
India. 1
(A)  Currency, Irrigation, Adoption and Computer Software
(B)  Defense, Foreign Affairs, Banking and Communication
(C)  Police, Business, Commerce and Agriculture

(D)  Education, Forest, Marriage and Adoption

8. Which one of the following is the majority community in Sri Lanka ? 1
(A)  Sinhalas (B) Indian Tamils
(C)  Sri Lankan Tamils (D) Christians
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9. fimfafea 9 o g uoifaes sgaeem a1 <3 & ufeu T w2t foesreq w1 <A

I : i
L O TST S L. =
0. <A IV. WRd
e :
(A) FAAITIERZ) (B) Haa T EHE |
(C) FadlIa IVENE (D) FHaA 1T IVERE |
10. T T SHeater e i

(A) TG o forfir=T 31T & o= ot sfeanT |
(B) fafir wrTisTes gt # T 1 sfeam |
(C)  fafir gama gt # @ o1 sfean |

(D) TR o [T TaT X |1 T ST |

11. = e fRu mu & | I arfirsheT (A) 3T HWOT (R) B | QA1 ST o ufeu 3K wet

forered &1 == it | 1

3fFYT (4) - O ! HIGGTH Slehas oht HATCHT R |

FRO(R) ;T EIHR ! o (S AT MEiERT % " ¥ avt e Wl
T € |

foreea :

(A)  (A) 3R (R) IHT T & 3R (R), (A) I T AT |

(B)  (A) 3 (R) IHT T&t &, AT (R), (A) il TET =AM 78T 2 |
(C) (AT e, AfeeT (R) T & |

(D) (A) TS &, AfhT (R) TR E |

12. fAfaRad & & HH-81 St 1 AR Jd 8 2 i
(A) s T (B) Ugifcr
(C) e (D) YT FHsi
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9. Refer to the following countries with federal political system and choose the

correct option :

L. United States of America II.  China

III.  Japan IV. India

Options :

(A)  OnlyIand II are correct. (B) Only II and III are correct.
(C)  Only I and IV are correct. (D) Only I and IV are correct.

10.  Vertical division of power is :

(A)  Power is shared among different organs of government.
(B)  Power is shared among different social groups.
(C)  Power is shared among different pressure groups.

(D)  Power is shared among different levels of governments.

11.  Two statements are given below. They are Assertion (A) and Reason (R). Read

both the statements and choose the correct option.

Assertion (A) . Power sharing is the spirit of democracy.

Reason (R) . A legitimate government is one where all the groups connect

with the government through their participation.
Options :
(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)istrue, but (R) is false.

(D)  (A) is false, but (R) is true.

12.  Which one of the following is a non-conventional source of energy ?

(A)  Natural gas (B) Petroleum
(C) Coal (D) Geothermal energy
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13.  Uuur iy bt Freferiae oot T ufew o et foshew w1 =2 iR - 1
L oS & 7 Ul %Hd ag i |
I 9% et Of e F 2 |
L. o8 3 & | ol STl & STEl qiH 0T SITEeT 31 qele 3Teh 8iav @ |
IV. @ % 36 T T HY Sl e HEe © |

e :
(A) FAAITITRE | (B) FAANTUITEE |
(C) FHaAIT IVENE (D) FHaA 1T IVERR |
14. ot S " o fore <2t fmfafaa § & fora oo & e @ e & 2 1
(A) afHeHETg (B) TSEIH
(C) feomm (D) wTEE

15. Tt Ru e E | I AfehaT (A) SR RO (R) § | SHT heFT i ufey 7T agt
ereT a1 99 I | 1

SR (4) : TF ST S I et hT TETOT B hl STTTTIHAT ¢ |
FRT (R) - wegor § urieafasht fafaear s wdt 2 |

Toreea

(A)  (A)TEE, AfohT (R) T 2 |

(B) (AT g, AlkT (R) TRIE |

(C)  (A) 3R (R) IHT Tl & 3 (R), (A) T Hel ATEATR |

(D) (A) IR (R) I &= 7, AfT (R), (A) I Tt AT 7T R |

16. e T st qfd o foTu @l forshe o1 =R hifSg |

TSR T U shl st W IIRIeR I U T T o TR o | 1
(A) 1878 B) 1968
(C) 1887 D) 1778
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13.  Read the following features of plantation agriculture and choose the correct option:  /

L. A single crop is grown on a large area.
II. It is capital intensive farming.
III. It 1is practised in areas of high population pressure on land.

IV.  Food grain crops are the major crops of this type of farming.

Options :
(A)  Only I and II are correct. (B) Only II and III are correct.
(C)  Only I and IV are correct. (D) Only I and IV are correct.

14.  In which one of the following states are ‘Tankas’ prominently prevalent for

rainwater harvesting ? 1
(A)  Tamil Nadu (B) Rajasthan
(C) Bihar (D) Jharkhand

15.  Two statements are given below. They are Assertion (A) and Reason (R). Read

both the statements and choose the correct option. 1
Assertion (A) . We need to protect forests and wildlife.

Reason (R) : Conservation maintains ecological diversity.

Options :

(A)  (A)istrue, but (R) is false.

(B) (A)is false, but (R) is true.

(C)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(D)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).

16.  Choose the correct option to fill in the blank.

The Vernacular Press Act was passed in on the lines of the Irish
Press Act. 1
(A) 1878 (B) 1968
(C) 1887 (D) 1778
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17. Teuwww o o1 et HifSw | foer & g1 areT o Sty & fefefaa o @ fore
&k o AT ST R 2 1

X o  F

(A) Tt
(C) qdr=

TqIe : TECTRad 37 Facl GISaTiera GRieTiora o fo1g I G 17 % T R E |

URTUT ST o Tferiaa | & fohe &k o faia HATar g 2 1
(A)  TTfHeh (B) Tt
(C) = (D) =

18.  frmfcifRad sre1et st sheTshHTIaR se e shifSTe 31 |t forerey 1 =—i hifer : 1
L. ST o CHITURT hl ST

I ieft-sefom augiar
. YR ST ue San uie (fheaeh) 1 e

IV. dead R NIRESRS =G

Torehed

(A LILILIV B) ILLII IV

©) HOLLILIV (D) IV, LI, 11
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17.  Study the given picture. The work being done in the picture comes under which of

the following sectors of the economy ? 1

-

¥
\

(A)  Primary (B) Secondary

(C) Tertiary (D) Quaternary

Note : The following question is for the Visually Impaired Candidates only, in lieu of

O.No. 17.

Animal husbandry comes under which of the following sectors of the economy ? 1
(A)  Primary (B) Secondary

(C)  Tertiary (D) Quaternary

18.  Arrange the following events in chronological order and choose the correct
option : 1
L. Establishment of Depressed Classes Association
II. Gandhi-Irwin Pact
III.  Formation of the Indian Chambers of Commerce and Industry (FICCI)

IV. Second Round Table Conference in London

Options :
(A) LILIOL IV B) ILLILIV
©) OLLILIV (D) 1V, LII, 11
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A
19. fodt fowa g5 0 oft wiewat (Tegh) & HeilR vt forered o1 = shifere | 1
(A) ST, g S
B)  Torem, wim AT S
(C) ST, hid 37 geatt
(D) ST, STUT 3T 3t
20. I yaTedl ¥ SeraTe’ & ey ¥ fmfefaa o @ adt faemey @1 w=w fifse I
(A)  TSTas, TN e 3T Gufy 1 ST W1 =hiey |
(B)  I&GH! qAT YSft o SATATTHA 0 TS o FRIolt 26t gy |
(C)  doh-foraeh 3R g o wfgmmie i st |
(D)  3THEHf ol SGTvd = AT TUT HEITT AT |

Qs g
(et erg 3wl o) (4x2=8)
21. IR I UV S H FHT T HaR STRITehT T HfHehT ohT foreetwor hifSr | 2
22. WS g Sfia o i (el Wi € | IeTeTOl Wiwd o i qfy hify | 2

23.  sficioRT H gL HEdi 4 for I At Sh st 37T T oY ARt 38 SIS
TEHT 2 TIE HIT | 2

24. (a) AT (faeh &) I fore Terr e s siter o 2 foreel <1 Saretol wfed @y
IS | 2

YT

(b)  THN W YeT o gL <1 o s foh JehT Aieehicish SATEH-TEM G4 fehar o 2

foregl 21 Serewon ufead Ty FHifvy | 2
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A
19.  Choose the correct option regarding the Axis powers in the Second World War. 1
(A)  Germany, Italy and China

(B)  Britain, France and Germany
(C)  Germany, France and Italy
(D)  Germany, Japan and Italy

20.  Choose the correct option from the following regarding nineteenth century
‘liberalism’ : 1
(A)  Monarchy, social hierarchy and property must be maintained.
(B)  The abolition of state-imposed restrictions on the movement of goods and
capital.
(C)  Criticised the glorification of reason and science.

(D)  Not tolerating dissent and imposing censorship.

SECTION B
(Very Short Answer Type Questions) (4x2=8)

21.  Analyse the role of Information and Communication Technology in making

globalization possible. 2
22.  “Minerals are an indispensable part of our lives.” Support the statement with
examples. 2

23. How did measures taken by the Sri Lankan Government increase the feeling of

alienation among the Tamils ? Explain. 2

24. (a) How did the Silk Route connect the world ? Explain with any two

examples. 2

OR

(b)  How did our foods facilitate cultural exchanges between distant countries ?
Explain with any two examples. 2
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(TY-3THT I99) (5x3=15)
25.  FAH AR H A TSifereh it o gwet fopeel o= =t sht samen hifs | 3
26. TSR AT TS TSR A GETEAT H S T HIT | 3
27. WA # aforfsass i 6w i & ol Hife | 3
28. (a) STESA Al % ATffeh TTal shT forzarmor Hifsre | 3

AT

(b)  “¥Id H AT TSZAATE o I8 hl UREreAT Jufrarzrang forieft sviaier & @

TEL AR W ST ES ol |7 56 U T foweiwur i | 3
29.  “uieror # fiRree & yiomm Tsder 3 T HHTe 1 T T8 A © | 36 HAT Y
ISTEXT Hed AT I | 3
LCLER)
(S-S 99) (4x5=20)
30. (a) 1815 ¥ formr wfer o Sewat it s=me Fifvw | 5
AT
(b) IAW % TAAAT T J R TR [ AT H Rferd SIS ot § asg
ATIT3AT ohT TR TohaT 2 AT ShifNTT | 5
381. (a) WA H qaAIIeh &5 o S¢d Haw i SATEAT HITST | 5
HYAT
(b) TS U FESA &eht | 3T TIT HifSTT | 5
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SECTION C
(Short Answer Type Questions) (5x3=15)
25.  Explain any three challenges before Indian political parties in the present time. 3
26.  Distinguish between renewable and non-renewable resources. 3
27.  Describe the main features of commercial farming in India. 3
28. (a)  Analyse the economic impacts of the Non-Cooperation Movement. 3
OR
(b) “In India, the growth of modern nationalism was intimately connected to
the anti-colonial movement.’” Analyse the statement. 3
29.  “Consequences of environmental degradation do not respect national or state
boundaries.” Explain the statement with examples. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) Explain the aims of Treaty of Vienna of 1815. 5
OR

(b) How did the Greek war of independence mobilise nationalist feelings

among the educated elite across Europe ? Explain. 5

31. (a) Explain the rising importance of the tertiary sector in India. 5
OR

(b)  Explain the difference between organized and unorganized sectors. 5
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82. (a) CAehAlTh ITHA HAET foRd TehK ¥ Sl HATRI Hgfg wa forenme § wemieh © 2

IETELT Hied T HIfT | 5
aroraT
(b) ST T TRAT T TS & AHA T AVehdieh =TT fohe Thr forell
3T TG JUITeAT & SHTebT 3T | 2 SaTedvr afed Tog Hif | 5
33. (a) YR TfIawoT | ST o Hewe shi AT 11T | 5
areraT
(b) ST ATy TGNV % AT for®r TehR Iitamll & 2 gkl Ueher™ o foTq fedl it
JUTIT T gAY | 2+3=5
QU T
(ShE-3TTTHE / Fa-ATLTR T9T) (3x4=12)

34. feuwu gg I ufeu 31T 3He = fow T get o s AT
HTHTRTR 31 gfdes ferferear

TR sl SFOET § Tedeh &0 |1l o186 auff AnTient & e ot &<t fohdT I @ |
ST fordTT o STTEHT -8 ST QT & 3eh oL H TS Serd & | o aia aft
STl o ST H QT S S SIqTd @, Sioh S8 &1 BH H &1 {61 ST 8 | SR 1S hadl &
T3 a5 “Tifiqer” 2 a1 fopeft ot Y i o ot oo o oft S8 JW € ot R feer ST 2
T4 RO o0 H T ol bt A aTer <A sht ST SR 3 SIuTd § 3 foRet
e o S H BN T forveertar el € | fehte & <91 o 8 9@ anfties aeert
1 SIS o STTUTA T Ul <A & | SATSITET o6 18 U Teoh ik T shi HATeaT 4

FH IETL T |
(34.1) YR H SFHATOAT fohdr Satret R &t STt & 2 I
(34.2) WTRA § SIVMT % 3TTehel ol forvara i =it 7T SITar & 2 i
(34.3) R # @St fafaaar s wwgd & fg SEoET R TR we AEwul
IR & 2 2
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32. (a) How does democracy help in economic growth and development of a

country ? Explain with an example. 5

OR

(b) How does democracy stand much superior to any other form of

government, in respect of women dignity ? Explain with examples. 5
33. (a) Explain the significance of industries in the Indian economy. 5
OR
(b)  How are industries responsible for air pollution ? Suggest any three
measures to control it. 2+3=5
SECTION E
(Source-Based/Case-Based Questions) (3x4=12)

34.  Read the given source and answer the questions that follow :

Social and Religious Diversity

The Census of India records the religion of each and every Indian after every
ten years. The person who fills the Census form visits every household and
records the religion of each member of that household exactly the way each
person describes it. If someone says she has ‘no religion’ or that he is an ‘atheist’,
this is exactly how it is recorded. Thus we have reliable information on the
proportion of different religious communities in the country and how it has
changed over the years. The record shows the population proportion of six major
religious communities in the country. Since Independence, the total population of

each community has increased substantially.

(34.1) At what interval is census conducted in India ? 1
(34.2) Why are Indian census data considered reliable ? 1
(34.3) How is the census an important tool to understand the social diversity in
India ? 2
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35. feuwwuE ot ufew o7t 3wk i fow e get & s v -
forartt
HINET T St (Jikji) @Wﬁ?ﬁ?@q (Movable metal type) %mgﬁagﬁm
T TEY qUHT HISET dshi § ¥ 8 | §6H S (Zen) S1G 99 ol 77 fawivard & | T&de
W I, < AR BT & qmT 150 st fegstl 1 Secr@ fohar w2 | 58 147l
TSRt o 37 # i foram T o | gRe o Ted TS Uy TE €, T €S i
TS AT F Yo & | T8 FT 0T GBI H U HEU ash1eh! TE arfe
TAT | TS T 8 Toh F0 2001 H T HART HT 3 Te Uoreet # Hford foparm 7T |

(35.1) TEUT o Sfaeme & et o 7ewe ol Seoid hitg | 1
(35.2) TSRt a6t 2001 H AEHT HARY 3T T e Woreet # it Fford fopam mm 2 I
(35.3) S siig a1 gHgr 1§ forersll fohe TehR T 2aT @ 9 2

36. feu U EIq ki ufew =T Uk = fou T U94t & I i
TorerTer it ermutEEaT

Tl o SHTOTT ¥ OT =TT & foh 37 9 3 W & MHITA STeT 3T ST-STANT 81 T
T Tk © | ST 300 TSt @ g furedt © foh ael Ut 20 wret § o o s
4 Hiex & ATk 6T i 311 8 | 931 1 ST Toh-eTg W, T STl HOSRT
AFT-ITAT o @1 2 | IS 39 G197 o AT i T A9 diiehl SIRT &1 aF 37T
25 JuT T X1 T 60 TRIT AT 3690 A6 1 -390 HT 8T 8T | MG STt B
HANT-ITANT FoRIT €9 § ST TR ATt I TS o HiY b1 g8 & TG, &1, e 3R
gfeTor R % TS SR &1, F© dead! &t S dstt ¥ foshférd Bt el st &

T AT E |
(36.1) Torenra Y grotiraT 1 3¢ Ty il | 1
(36.2) Y[HHTA STCT o SATT-SURATT oh 0T B ATt T Hehe T 0 SHITTT | 1
(36.3) HW § YTd STt o SAT-ITANT T FH A & A Fwhi 6 g fomeel &
AT T Jecid HiST | 2
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3S. Read the given source and answer the questions that follow :
Jikji
The Jikji of Korea is among the world’s oldest existing books printed with
movable metal type. It contains the essential features of Zen Buddhism. About
150 monks of India, China and Korea are mentioned in the book. It was printed in
late 14t century. While the first volume of the book is unavailable, the second
one is available in the National Library of France. This work marked an important

technical change in the print culture. That is why it was inscribed on the
UNESCO Memory of the World Register in 2001.

(35.1) Mention the significance of the Jikji in the history of printing. 1

(35.2) Why was the Jikji inscribed on the UNESCO Memory of the World
Register in 2001 ? 1

(35.3) How does the Jikji contribute to the understanding of Zen Buddhism ? 2

36. Read the given source and answer the questions that follow :

Sustainability of Development

“Recent evidence suggests that the groundwater is under serious threat of
overuse in many parts of the country. About 300 districts have reported a water
level decline of over 4 metres during the past 20 years. Nearly one-third of the
country is overusing their groundwater reserves. In another 25 years, 60 per cent
of the country would be doing the same if the present way of using this resource
continues. Groundwater overuse is particularly found in the agriculturally
prosperous regions of Punjab and Western U.P., hard rock plateau areas of central

and south India, some coastal areas and the rapidly growing urban settlements.”
(36.1) Explain the meaning of Sustainability of Development. 1
(36.2) Describe the serious threat caused by overuse of underground water. 1

(36.3) Mention any two suggestions for the farmers to reduce the overuse of the

groundwater in agriculture. 2
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(TR S ITA-2ATHTRE T9T) (2+3=5)

87. (a) WRA % U ITC TSHITR T@T-HHIH (T53 23 W) H, 3T TAHI ! ‘A” 3B’
&Y | ifera fomar mar @ | Fefeifed S i wgmar @ 3% geenT 3t

I Hel AT 3 gHig G 78 W@ren v fafaw

A, T TN ST ST REET Y gerar & o g TR | 1

B. 98 TAM &l 1927 § WRATT TSR Hi3E o1 TR T T | I
(b) WA % g TSIk wEr-amte 4, fefafad § @ et @7 %t Sug gt @

3IMT8Y 37 3k 9 fafa 3x1=3

1) e Scureq ¥ 3ft s

(i) g T e hi @

(i)  eifear : T EHE

(iv) TSt el il g ae

e : (HEcTRad S¥7 Fhact GroaTierd GRierTieran & 1o7Q Yo7 &1 37 % T W e |

formg ater I¥1 & TR ST | 5x1=5
(37.1) 3| T &1 AW fAiae stet mefs I foramt it aerar & foe aemrs frmar |
(37.2) 39 AW T AT [TRIT ST 1927 H AT TSI hiUH hT SIS §317 T |
(37.3) T ScUTe § STV WA T T AW fAfau |
(37.4) U UST 1 W i el g wite-37reeh i T R € |
(37.5) 38 TSA HT AW fARGY &1 Hifoar Tz oo a2 |
(37.6) 39 T 1 I fARaQ STt Tsfa el sl aryg v o 2 |
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political outline
map of India (on page 23). Identify them with the help of the following
information and write their correct names on the lines drawn near them :

A. The place where Gandhiji organized Satyagraha to help the

peasants. 1
B. The place where the session of the Indian National Congress was
held in 1927. 1

(b) On the same political outline map of India, locate and label any three of the
following with suitable symbols : Ix1=3
(1) Leading Coffee-producing State
(1))  Durg : Major iron-ore mines
(i11))  Kochi : Major sea port
(iv)  Rajiv Gandhi International Airport

Note : The following questions are only for the Visually Impaired Candidates only, in
lieu of Q.No. 37.
Attempt any five questions. Sx1=5

(37.1) Name the place where Gandhiji organised Satyagraha to help the peasants.

(37.2) Name the place where the session of the Indian National Congress was
held in 1927.

(37.3) Name the leading Coffee-producing State of India.
(37.4) Name the state where Durg iron-ore mines are located.
(37.5) Name the state where Kochi sea port is located.

(37.6) Name the place where Rajiv Gandhi International Airport is located.
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oy Political Outline Map of India
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
CBSE Secondary School Supplementary Examination, July- 2024 Hindi Medium
SUBJECT NAME: Social Science SUBJECT CODE 087 PAPER CODE 32/S/2

General Instructions: -

1. | You are aware that evaluation is the most important process in the actual and correct assessment of the
candidates. A small mistake in evaluation may lead to serious problems which may affect the future of the
candidates, education system and teaching profession. To avoid mistakes, it is requested that before starting

evaluation, you must read and understand the spot evaluation guidelines carefully.

2. | “Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could lead
to derailment of the examination system and affect the life and future of millions of candidates. Sharing
this policy/document to anyone, publishing in any magazine and printing in News Paper/Website etc

may invite action under various rules of the Board and IPC.”

3. | Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done according
to one’s own interpretation or any other consideration. Marking Scheme should be strictly adhered to and
religiously followed. However, while evaluating, answers which are based on latest information or
knowledge and/or are innovative, they may be assessed for their correctness otherwise and due marks
be awarded to them. In class-X, while evaluating two competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

4. The Marking scheme carries only suggested value points for the answers.These are in the nature of Guidelines
only and do not constitute the complete answer. The students can have their own expression and if the

expression is correct, the due marks should be awarded accordingly.

5. | The Head-Examiner must go through the first five answer books evaluated by each evaluator on the first day,
to ensure that evaluation has been carried out as per the instructions given in the Marking Scheme. If there is
any variation, the same should be zero after delibration and discussion. The remaining answer books meant
for evaluation shall be given only after ensuring that there is no significant variation in the marking of individual

evaluators.

6. | Evaluators will mark( \') wherever answer is correct. For wrong answer CROSS ‘X” be marked. Evaluators will
not put right (') while evaluating which gives an impression that answer is correct and no marks are awarded.

This is most common mistake which evaluators are committing.

7. | Ifaquestion has parts, please award marks on the right-hand side for each part. Marks awarded for different
parts of the question should then be totaled up and written in the left-hand margin and encircled. This may be

followed strictly.

8. If a question does not have any parts, marks must be awarded in the left-hand margin and encircled. This may

also be followed strictly.
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0. If a student has attempted an extra question, answer of the question deserving more marks should be retained
and the other answer scored out with a note “Extra Question”.

10. | No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11. | A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question Paper) has
to be used. Please do not hesitate to award full marks if the answer deserves it.

12. | Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day and evaluate
20 answer books per day in main subjects and 25 answer books per day in other subjects (Details are given in
Spot Guidelines).

13. | Ensure that you do not make the following common types of errors committed by the Examiner in the past:-

Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e Leaving answer or part thereof unassessed in an answer book.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e  Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly and clearly
indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14. | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked as cross
(X) and awarded zero (0)Marks.

15. | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by the candidate

shall damage the prestige of all the personnel engaged in the evaluation work as also of the Board. Hence, in
order to uphold the prestige of all concerned, it is again reiterated that the instructions be followed meticulously

and judiciously.

16. | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot Evaluation”

before starting the actual evaluation.

17. | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title page,
correctly totaled and written in figures and words.

18. | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the prescribed
processing fee. All Examiners/Additional Head Examiners/Head Examiners are once again reminded that they
must ensure that evaluation is carried out strictly as per value points for each answer as given in the Marking
Scheme.
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R GRIEAT Al — 2024
3% FrorT
HeT X IS fae
Paper Code: 32/S/2
He — 2 qUlich 80
A%, T g ISER
KRSl
WS o 1x20=20

(€8 famed UwA)
1. [ (A) famfid 65E |1
2. | (D) a=a 10E |1
3. [ (A) "rafde — @A 20E |1
4. | (C) WgaR 48E |1
5. [(C) ooicR ¥ U & &9 & w9 H U e 42E |1
6. |(C) &t SHIGIRl &I U — U5 §RT AWRIEH AT b1 ART | 60P |1

ERINCIECIDIS
7. | (D) R, o=, faae iR Mg o 16P |1
8. |(A) fHgel 3P 1
9. |(D) daa 1T IV W& 2 | 4P |1
10. | (D) &R & A= WRI W) AT $T §eSarnT | 8P |1
11. [ (A) A)3R R) SHI FEI § AR (R), (A) DT A&l IRAT 2 | 6P |1
12. | (D) ¥— A SHoi 555G |1
13. [ (A) daa 1911 W& B | 31G |1
14. | (B) rorRem 26G |1
15. [ (C) A)3R (R) aHl H&T € 3R (R), (A) &I HEl IRAT T | BG |1
16. | (A) 1878 127H |1
17. ] (A) s 20E |1
3
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dad gieqifea faenfat 7g 20E |1

(A) Tt
18. 1 (C) O, L 11, IV 40-42 | 1
H
19. | (D) S+, SIUT 3R geefl 74H |1
20. | (B) a¥gaii T Yol @ SIanTHE IR I & o & g (9”1
U g 4x2=8

(31fcT STg—STRII ge)
21. | ITAEROT DI HHG F H GAET G HAR Ul &I T &7 | 63E | 2x1=2

fageryor #ifTg |
(i) A I H TEAR, IR AR e & aF § Ui
gd Ifa & gRafda &1 & 2|
(i) SRETR FAEmwRll (CHAUTH, <elhH, AMEd B Td haw)
F faeg R ¥ Th TR W HUD B, GIATRI Bl dchlel
UTel 6+ 3R GRacl &AW Harg &R & oy WInT fa
ST 2 |
(iii) & gAY FOR IUUEl §RT GH &8 ¢ |
(iv) SR BT 3E YADH &5 § Jde & TI7 2 |
(v) SEIIT DI FETIAT H GAIRH B Urd fHAr S Ahar g vd
I2 3O # UHh SR & <1 W1en fhar S Aawhdr € |
(vi) STHC | BH TOchldd Soldel<d SIdh (3—Hd) ol Adhd ©
IR T HF oI WR fdeg ¥R H 91d (a9 Hel) IR Fhd
g |
(vii)®TS 3 uifiTes fig)
fgl <1 fagall &1 faweiyor e |
22. | @S BER Sl & Afd Af1ard 91T & | Sarexvll |ied B @ | 426G | 2X1=2
gfte Hifory |

4
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(i) AR ERT ST BT STF daTell o T ¥ =el, b BIcT
U9 9 odx $Hdl SART I1T ds SB db, 911 @i-ell |
Rl

(i) NTd T8+ IR FSHI BT SR, AR SUBRT AR AT
Qfoll & a9 € |

(iii)PN, T, NeITredl, ga1s Sierel @fel 9 HfHaT 8 € &R
gy & U faegd HeE W gerd 2

(iv)8F ST 9IoE g & Sad T ot uered 81T © |

v)der & S ROl ¥, "9a 9 @Fel w1 STIRT oA
3ATSHIfde], Asae, Sodd, o1 3R AuaiRe JToHN B
forg fovar 2 |

(vi)®Ts 3T Uil fdg |

1 a1 forgell @1 = suféa 7|
23, | McidT § RGN Bhaal 1 fhd IR affal & ARmerY iR I+ | 3P 2X1=2

Pl AP ST FTEGH dGRIT? T DI |

(i) 1956 § U 1w uiRd &xa Rigell B THHH MABRS
AT & ®U H AT & & T3 {99 afid 9191 &1 Suel
TS|

(i) WReRI 7 favafdereay § uel IR WRary AeRal & fog
Rigell amda®dl &1 aIdr <9 & AT BT 19T |

(iii) U A= # a8 urauE fear T {6 ST dig oW @y el
3R Fae= |

(iv) IR 9T AR BT o b dig Rigefl el & -iga |
Bl W1 TG ASTIaD Gl Idb] AT AR FEpia & gl
e F8) o |

(v) S T b Afeum™ iR SRR Nl 19 S8 994 IS d
BRI A dferd wx fear a7 2

(vi) TRAR 7 AHRIAT AR T TR U B H SHd A1
AeHTd fhar iR S9a Bl @1 aFeE) & |

(vii) FHI & A1eJ Rigell iR dftel Serl & di9 Gdg qaraye
8l 7Y |

(viii) T DI MMETET qTel Widl DI S [@ITAT o DI SAd!
AT P IR—AR RATHR fbar 77|

(ix) DTS 3T RS &g |

gl Qr favgail o aren nfda 2

5
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24. | (a) wwm 9rf (Riew a°f) 9 &9 gyar gfam &1 Srer en? fa=dl |54 H | 2X1=2
3l SEEVI Afed T B |

(u)WWW?ﬁ@—W@%@&%Eﬁﬂqﬁwﬁfﬁ
TR 3R ARPAH Faell BT Sdd ISTERT 2 |
(ii) SfBMdRI 7 S IR g & KT By NTH AN DI
Tgd™ @I &, S URRT & faema &= & Udb | Sied @
AT TR T IR AR ST 3HIHT F s ¢ |
(i) s A | A A8 @ a9 (@) 99 o | s AnT |
YR 3R AT Yd YRRT 4 HUST 3R FdTel AT & O
9RTE H Ugdd o | a9l H 989 STqU—|AT 3R ARI—JR1a
q gl ugHl |
(iv) FTUR 3R Figdh e — Ya™, ST Giharg |rer —
A1 Tl ol | YA Il & gl e Feerg 8 sl
ART 3 URET H 31 81T | |8 Hal d7e GRH gaqd Al
S I A g # v |
(v) gt “Ra ® SuoT dig o Ries At @ fafay aransit 9 &
o3 foomen # v |
(vi)PIg 3= IRifTe fd3 |
gl <1 favgeil & =T nufeE 7|
31erar
(b) TR @M USRIl A SR W & 419 69 YeR Aiepase AeH
— TS g fHar oa1? fBEl <1 Sarervll afgd wWee Bife |
i, U R AR o9 fhdfl AU <2 H Sfd dr 37U 1L
Bl R T BEal & dio1 91 A I | 99T © fh g &
fafa=1 9T % feq arel ‘Scue IR 8 dTel’ Ere UG

& A1 |rm g 8l |

ii. gg favary fhar Sirar 2 6 Ised =9 9 uRed § ugd ik
JEl I 9 WEdl BT ST Tl |

iii. ORI 3RE AT & AT RA<ell ugaT Sl STell & U <Y,
2 |

S54H | 2X1=2

6
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iv. S U8 B IMER YR IR SUE § BT 91U SIid § $4fely
ST W USRIl & aRadd SeTH Al & &7 &4l gdr W

- T Uiq |
V. 3ATe], I, Thell, Aadl, THICR, fTd, ke, ik U &
98d AR AN Qe U ST U™ Al 99 99 dd BN
gasll & Ui T8l o |
vii. ¥ @ verf JRIY AR URET ¥ d9 ugd oid fheeieR
DIl TeTcl W 3f=IT Helgial § uge Tar o o a1e d
MRS & AW H ST ST T |
vii. @3 T Bl & AN H Siad H S — SH BT B
3T ST oI | AR A 37Tl BT KA YH HRA W R
& TRIE B [T e w9 A 95 TS |
viii. @1 o e fig |
1 a1 forgell @1 = suféa 7|
Qe T 5x3=15
(g—STIT 1)

25. | I FHY H MRA™ ISHIaS ol @ qael fhegl O gAifel | 57P | 3x1=3

Pl IRAT BT |

(i) oMdR® edda &I AT |

(i) <oEfae g MafAa sraRe geama T8 SR SR do@
T2 B |

(iii) deraTg @T A |

(iv) & 3R dIgdet &1 gl T |

(v) #derarl & v a8 defe fAhed & wy ¥ udid =&l 8 |

(vi) B3 3= ufTe o5 |

gl T favgail o1 e onuféra 2 |

7
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26. | TABROT TG TG FHGHROT AT FARAET B AR WK HIfo | |26 | 3X1=3
TATHROT ARG AT FaHRYT A
| |57 Gt @1 gfd uefa |1 |3 SR @ ant @
ST &Y Sl 2 | SR & 916 9AT< 8
T B ST Fh B |
Il | 9ol TR g ARG d= | 1l | gl R gbT FHied der
¥ I T | =
Il o8 ol & IR IWRIRE | 1 | I8 J&I: ol B IRURET
| T € AT B |
| | Serevr & ffw ary, o, | IV | Sereer & forg Siared See
VIER — 3o, s — g DI, USIferdH, omfe |
SIHaR 31 |
V| 3 gy 2 B V | 3% STANT ¥ UGy Bral
=
BIs 3 IRING 45 |
fBgl T Il & MR W iR W fan ST nufara 7|
27. | RA # qfvIRT® HY 31 Y@ ARVl &1 9o DIy | 35G | 3X1=3

(i) 39 9BHR B Tl $ =7 faevar smygfe ol o9 it
ST 7 |

(i) SUY STd SUTSHAT U Bl 2 |

(ii) P & ATTARIBIOT & TR TP &5 ¥ g &5 H A= 8l
g |

(iv) ST @ ol =rge sRIT § e aawaniie Bad ©
dfh= SNfSer 4 I8 e Mais »ad & |

(v) B3 3 ufTe g |

1 = favgeil &1 aviq smfera 2|

8
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28. | (a) SRIEANT aieTer B A THTal BT ATy BT | 34H [ 3x1=3
(i) fa<=h a=T &1 IR
i) Wael IR BT [aHr™
iii) fafeer wufat & <ova #§ ARmEe

(
(
(iv) TRBR & IO TR T AR
(
(

v) X ffefes fvRar
vi) BIE 3 TRifT® g
gl T a5l &1 fagetyor smféra 2|

31erar
(b) “IRT # B IgAE & IgF B UREcT IufAderag
faRreft aridie @ w1y e} AR ST g8 A | 39 FHUF &I fIvermor
B |
(i) sfufraf¥e el & Raas dud & SR @RT AU YahdT
B gEAT I |
(i) IS IR AT & AT W1d A A= |98 & Th T
| 9ty fear o
(iiii) HETCHT T & <IJcd § B - 391 GHE! Bl gbgl B Udb
faermer seie™ @ faar |
(iv) YRS AT U4 d¢ ANGQRH Igarg & Udidh 9 9 |
(v) fafesr WReR fOREN 3™ 9 — RISANT 2felad, afaad
YIS 3fQIer 3Mfe IufdeEare faRer &1 Ui a1 19 |
(vi) ®TS 310 U fig |
f=gl A fa=geil &1 fazeryor srufé 2|

29H 3x1=3

9
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29. | "guiaRYT ¥ RRMEC &1 9RUH MG iR 9 AR BT &1 | 16E | 3x1=3
T BRA T | 3 B B SeN0N Afed AR HIFY |

(i) TITeRvT § fRTae &1 aRome fd &= a1 e faey &1 =8
g Wi I8 TAN 9IS & AT ST B3Nl o |

(i) ISTTD, NTeAT, RIS IR og AMIIG denfe 34
&3 ¥ fAdar dM o) | 2 |

(i) X e U1 arell 41 3R 3l WRa @ & & BRI
B dTell e aIfiT | qR g Bl @ © |

(iv)STel fTal &1 Iguor Ush iR TR geT 2 forgas forg iR
J HIhH Tl DY IMITIHAT & |

(v) BIs 3 YIRS g |
gl 1 Il &1 e aufea 7 |
Gus g 5x4=20
(Erd—swTRIg ugH)
30. | (a) 1815 % fag=T GfY & Sewdl & RN BT | 11H | 5x1=5

i. 1815 @I fa¥aT W AUIforM Jgi & IRM XU ¥ MY
3rfSemTer URadHl BT gaad &R & I H AR DI T3 A7 |

i. 9@l rorae, T BT Bifd & SR SR $HR far 1
off, | H g8Tel 8 AT AR WA o1 AU & & 370
Heol dqTel & B @ fean|

ii. 9T H BRI IR 31 I3 & oy B & el w®
Al B TH AT AT DY TS |

iv. Hecs &1 e, e dfesiam W wnfAa o, SR H
I T T 27 3R SR &I gferor # dreAic § Sl
T o |

v. UIT BT SHdT U A R "Ew@yel Ay & fav |

vi. JRgA B I el &1 FRaFor f&ar w3 |

vii. w5 BT dlels B ZwAr ar a7 Safd gem w1 A @
U feear faar |
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viii. Ul §IRT RAUT 39 AT T STHA YR 3Tl I8 1T
AT |
ix. YU S AU gRI WIS Bl T ST Bl d8Tel
BHRAT 3R WY H [H A3 wigard! aweql a1 o7 |
X. Is I YRS 45 |
=gl dfa fawgall @1 == sfard B |
Jeran

(b) T & eI WA 7 s YR IR JRI9 H RErT ST | (3 | sy1=5
it 3§ ISR AIaEi BT AR fhar? e S |

() T " Rra X JRY A Rfed v o f & 9=
RIqTa] ATGIRA Dl SN [HAT a8 A BT Fa=al AU
T |
(i) I UGEdl Tarea) W IS AESd B 2T 8T o |
R H HIABRI AR & [JDbrE F A>T & 9=
azdT & forg duy & 9readr & o e |
(iii) I ¥ Irgarfeal @ Fafas § 8 @ o Al &R
F3 UfEHl R At 9 A wweE e, e ard=
AT GBI &l FETgfa ot |
(iv) BT R HATGRI T IR FIAT & IGTH I & Ty
H YA B WRBAT B AR GRH AT b RIATh IHD
HGY BT F9IT B & oIy AT JJer T |
(v) TS BId dle IRRA 7 g9 B AT BT AR 918 H g
# o Y, STEl 1824 H @R A DT I B TS |
(vi) 3T, 1832 Bl HIIAGEAT DI AT F JAM DI T w@dd
M & Y H 7T o |
(vi)) DTS =T US|
=gl dfa fagall @1 =T onféra 2 |
31. @@ 9RA ¥§ S &9% & d9gd A DI AR DIfog| | 24E | 5x1=5

() T ft <1 & ®3 el S SRUdrd, RetfOrd AR, ST
3R TR WA, Yo T, 3f&Terd, UTH RIS,
TR 7, et uRag+, §&, dH1 Hufaai ofnfe a1 smagadar
BT T | $2 gFre) ATy AFT ST Ahdl ¢ |
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(i) TIBErTNT < § WREGR BT 59 JIRN B WG Y DaRy
ol BT |

(i) PV AR I & AP F yRdEH, AR, SR AR A
e DI A1 BT b BIaT 2|

(iv) W@ IR fgdad earat &1 faer ran sifde 8rm, 9
UHR DI [aRl dF J T I+ 8l 31 srfY |

(v) SII—9Y 3 BT WR 941 &, BB 9 & Al d8x Bl G,
wed, TR, ol regdrd, FIofl wha, Ueiar ufRieror anfe
SNl ®3 3R HaTRll B AT BT o d B |

(vi) TUBl ST U&h Q96 H, GaAT 3R HaR Ureifiel o)
JMETRT FE 5 AT FASdY0l 3R LIS 8 T 5 | 4
Jarell BT ST ol A 9 V&l © |

(vii) PIS 3T Uil fawg |

=2l dfa fawgal & =T fohar S sféra 21

Jrexdr

(b) ST Ud IRIIST &Fd! § 3faR T PHINY | 30E | SxI=5

SUIRSEGEED TS &5

| TAH S STHl T BRI BT || | IRTSd &adb | Aferdhreia:

et far T § el ISR BIc! AR el g8 gHhrsaf

P o afaa €1 saferw A Bl R R WReR @

BT fAf¥ad am fAerar 2 AV fm d1e 1 fharf=aa

T8 B U § |

Il | S< %o Fd R et &1 | ) | Foa—ame a1 8 2 dfed

qTT< A1 BIAT & ol fafr= SREZRCIEZR RS CISE IR |

BT O hagl  arfafm, fobam ST |

LUGICECIBIE R
ufes e anfe & fog
U 8 |
N | 39 Gfod gfels el Sar & | || | 39 &9 § 93 9= § U™
Fifs s FB  SNU=IRS ST A § S Wed W
afsrarall & qof fhar Smar 2 | A dE A WREd BT
PBH B O ORI B
HM dRd Bl 9 fHAT
foeRae ufdhar &1 Uret=
TE B B
IV | fed &=t & sifet @1 IV | ATERIT HH da arell B
IR a8 B | g @R e fufaa &
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qAQ A | BT o

AT 2 |
V |ST0 e & Ee MRTd e | v | S8 R & ' [MfYed
2| 8l BId B |
VI |3 T e B HRA B, Al | V| | JNARCIZH BT DIy TR
= fRIRPT gRT SMaReIZH &l el BT © |

YA HRAT BT |
VIl | 3% e 9 @ o /R |y (s Fear @ @8
Wl U B B | || e/ w o e
BICT & |

Vil | S |ddfe g2l sfedl @ |y | Sfel & gaaHe s,
SR e, A [l =gt | | gfedl, R el @ PR
anfe fAerar g | el 8] fHerdl 3|

DIy I UNifTS g |
fhl Ufa fagall & "M 9 iR Wt o i eruféra 21

32. | (a) roaifye e e &9 geR a9 o onfdfe wgfg ud | 67P | SxI=S
faepTa # TB® 8 SR Afed We BT |

(i) SHAINID IRBRI H Ig SHIT I Il § 1P I8 Jorvd
SERAT BT GRT BN |

(ii) ADHAITD TGN TG HRIGHA! & dad TaAS B qH
I qH AR BT Ugd Bl BRI BT 7 |

(iii) ST aTAd® Armds H | ANl & Ad HT Jod FAH
2Id] & ST oliehdif3e WReRI I Jg SHIE P el ©
b a8 FHs1 & |1 ol & rJHY ATIS AfAT B T
BN |

(iv) T GRE, ASHTR goid o BrihH AMfid Hgfg Bl
qerd & |

(v) ATl ARBR IMfd SRTATAT BT HH B Bl DI
BT B |

(vi) BB FRDBR ATAD g & ol ATaedsd AR
SRERAT BT QRT BT 2 |

(vi)) PIg =T YIS =g |

=gl dfa fagall @1 =T snféa 2 |

SRAdT
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(b) wfEemen &1 TRAT R SIS & Al § Albdid FAaReT
8 THR 5N T AT UUITell | HI%! T 87 SIERYT Afgd

I BHIfTT |

() T FaFaT & forv Fagaeiierdr & 91a S fdhan
foar g |

(i) Apa= Afeeel & oI FHHar © SfgER IRl | SUAE]
HAT &I T |

(i) ATB IS aeel # i AGHTT BT MR TR A
foar T B

(iv)didas | AfRRN Bl alc T & IUHR Afed qH
AfTPR T Bl B |

(v) BB Albdiid <ol 9 Al | afgams & forg dic
IRFETT B |

(vi)PTg 3 TR =g |

=gl dfa fawgall @1 == sfard B |

33. (a) 9RO fa=en # SN & ¥Wewd @ T difeg | | 386G | 5x1=5

() SN HN P AYH® 99 H A& IA &, ol AR
JdereReT B WS T |

(i) 9 AR BT fgiae &R s &=l H el uee axad
P T W IADI R FRAT BT HF B 2 |

(i) BAR < A RIS R W& I & g e
fgeT U gd ¥ B |

(iv) DT I IAMfeardl iR fUss e # SenT @nfud oxka
ST RN BT HH HRAT AT B |

(v) TafHa axgen & a9 AR &R qiiorsg o1 fadR grar
g, forsy g4 eravgs  facel He1 urd Kt 2

(vi) I I 399 Ped Al B AW~ ThR & Iod oI & AR
AT ¥ gqord & 9 F9g BId © | 9Ra bl qyfg 3o fafHior
SN Bl Jamey de™ IR fafdudr o= & fAfea 2|

(vii) PI3 T UIRTH 45 |

=1 dfe fawgell & == ouféa T |

3T

71P 5x1=5

14

Get More Learning Materials Here : & m &N www.studentbro.in



(b) TN 9Y UGEYT & fory fFd USR STRGREN §7 g9
Qe B forg Rredl € SR @Y gEEy ) 66G |25

() I USHUT AR TISATTASS 3R FHE- ARBIFAGS Sl
TSI TG B Sed 7= &1 SURATT & HRT BT B |

(i) arg # Freifdq Fofiy warert # o1, B gor SR gaii o4
3N IR ORS Tl YR & BT BT 3 |

(iii) RN TAIMS R BNST BREI, $C eI, T AR
IR IR A el I gRT Idford 8l g |

(iv) 9% 3R BIC HRAMI H SIATed S8 STATT Sl TGyl
AFES] BT R BIA & |

(v) STeNIell i &1 REE SrEdifeld 99 & |1l 98d
GRATH 8 bl © |

(vi) DI3 I IR 45 |
gl ] favgeil & =T nuféE 7| (2x1=2)

(i) Bfdd fhoer BT SYANT HRAT

(i) BheR 3R Tedrg favreT |

(iv) PREMFE § BRI & W=AE WR T AT I BT SYINRT R
g8 BT HA fHar ST Fhal ¢ |

(v) IS 319 Ul 4y

gl {1 famgail &1 e snuféra 2 | (3x1=3)
S . 3x4=12
(@ — JArETRd ue=)
34. | fou T Hid @7 ufey 3R SHP <9 oy T gl & I<¥ ST | 1+1+2=4
arifoTe iR enfiie fafderdn 39G

HRT P AT H GAB G HIT P FIG TH ARG & H Bl
G [T SIIaT &1 IO [QUTT @ SGH) GY — &Y WY Gl
W 7P FIY H G gerd &/ g9 wHa @+ Jial @GR aiT
W %S FaId & 3% der & BH H i [Ha7 I &/ 37V BIg
FET & [& g8 “Tiaw” & a1 v g7 @ T8 Aarar ar v o
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41 g% dvl & g9 @Y [T I &/ §9 PRV &9 P[4~ &Hl
Pl 77T qiel Gl B T 3V AP T H ST [ daerd
P IR H FHIV YT [39GFH1T GITN & | RBIS & 9 & G T4
elfHe THRTIl B SIEIG] ® SFUIT FT gdT dddl &/ el &
gIT W JAF &HE FTHGTT B SFIe § H1w) JiE §8 &/

(34.1) YRT B ST 69 3fARTAT TR B ST 27 )

10 @¥
(34.2) YRA # SIVET @ 2Afdpsl ®I fazaa=g R AT ST 87
@
(i) STITOTET BTH 9RA a7l FRh IAP R BT SRT Bl &

IR TP T BT Rpls W gof BT 2 |
(i) PTs 3 URifT® g

=l v fdg @t <ame enifdra 7|
(34.3) Ra # QMG fAfdear & THs™ & forg ST e
UHR AEdY0 SUBT 572 (2x1=2)

(i) STRTOMET <27 H A= |ArfoTe SRl & JrguTd iR e
6O I H 3HH DY dGd AT 7, 39 R (a1 SRy
<l B

(i) 3Tbs <¥ H B8 W i FHGRI & ST UTd Dl
NI

(iiyPTs 3 UfT® 45|

gl <1 fdgell & e T 2 |
35. | fau v wa @1 ufev iR SHd g AU U gl & SR 7w | | 108H | 1+1+2=4
INES
FINIT @1 [oraoit (Jikji) qager Heer €157 (Movable metal type)
P R FIET Gl @ e g Giqer geadl 3 i 8/ 99 a7
(Zen) dlg ¥ @1 F&7 [@Oyary &/ gead d 4vd, 919 I BIRar
& TTHT 150 Gig LS BT Fooled [T 797 &/ 3% 1491 Tt
P 3T H FIRT AT AT 7| Y¥dd BT Yol @S TYTE T8l &,
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GV TS IV Bl 77T AIZHY) H ST &/ T BT I Pl

H U FEGYY aamidl givadT @ied §3T/ T& BRI & 3 2001
H JAepl AN 3% & dos YISy H S 19T A7)

(35.1) H=vT & g # fSaoh @ A8 & ool HINT| (1)
(i) DIRAT B Sl qdaal ASel <gY & AT Hfad giar o
H YR HIG[ET gl § A T
(i) DI 3T IR a5 |

el va fdg @1 e smfdrd 2 |
(35.2) fSTail @1 2001 # FAwDI HANI A6 § Tos e H§ HI
sifea forar Tar? )

(i) I8 BRI & EXBT H U HAeeaqul dabeiid] gRad HTfdd
B3| IET BRI © fb 2001 H IRbl AANI 3% T dos
oReR # <ifded foar |

(i) DI 3T IIRTD =g |

el o fdg @ e SfdT 7|
(35.3) 9 dig g9 @ AT § ool f5w YR AR <dr 87

(2x1=2)

(i) Rt o+ dig a9 o g fagmant 2
(i) J&Teb H AR, =9 AR BIRAT & 9T 150 dlg [Hefatl bl
Seord fdHar a7 2 |
(iii)ePT$ 3= wife g |
gl <1 gl &1 arer nufeE 7|
36. | fau T wia @1 ufeu ok Swe e Ry 7Y gl & SR AfQ | | 4E | 1+1+2-4
faerd & arefrgar
“§TeT & FHIOI W Ul Tl & [ &9 & B Y A YEIT Tl
BT Sa—TGIIT &I BT THIY HHS &/ TTHT 300 [o7er] & Gar
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3t & 135 qsr fdeer 20 @erl 4 Ul & WiV H 4 Hiev H 3w
FI FRrge 37 &/ &9 @ T VH — [dET8 HI, qIATT ofel
HUSTR] BT ST SUIIT BV VET &/ Tle §9 ErET P HIIT BNT Bl
JAHT TEIBT IV VET T 37Tel 25 9 H G BT 60 FIGEIT HIT
S VT @7 I — SUIIT B V&7 EIIT/ FIHTT 7T BT Sa—
SYTIT 1395 &Y & Gorrd S glaH) I Hee & IV &l GI &
g &F], HET SV QYT YIvd @ FgTH] YOI &F], e dedd]
&l IV ol W 1[9BT &) FIe¥l §eaal H grar orar &/
(36.1) faerd &1 arofiadr @ aref W HIRY | )

(i) I faBr &7 31f 2 UITERT B JHA ygamy o=
I BMT AV IR gaa fderd # 9l qifedr &
SRl @ |1 Dlg FHSICT el 8141 =AY |

(i) DTS 3 URIfT® g |

5l v fdg @t e snfda 2|
(36.2) YATd &I & AMT—STIRT & BRI B Tl THR Fhe &bl
qoiF BT | (1)

(i) BTdT & AEAl ¥ UdT Fofal @ b S & B3 Zwl H 9ol
B IR STINT I TR WaxT B |

(i) Tl 20 991 & SR T 300 Tl # 9T WX H 4
Hrex I a1fde @ fiRmae oo @7 T8 2|

(i)l 3 Uil g |

fdl vap fdg @1 = smferd 2 |
(36.3) BN F YT ST & JIA—IUANT DI HH HA & forg
qudl & forg fe=Ll S gemal &1 oo HIRIY | (2x1=2)

(i) HEd Ued H 939 |.
(i) Ri=TE & 98 dhel o Sear, fsu Rirs onfe &1
SUIT |
(i)l 3 Uil g |
gl <1 fdgail @ =mer s 2 |
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s 2+3=5
CIRIEERSICIEGRES))
37. | 9Ra & faY Y Aorifas NE-AHEE (@9 23 W), H QU U &
I B A R B 9 3ifba fear war & | Fre=afaRed sMer @
TEAl ¥ S UgaIAY 3R SHa WEl A S99 IHu diE T8
Rgre R ferRau —
i. 98 WM STEl e A fad @ g & oy a9nE 1
fobam |
ii. 9% WF SRl 1927 H WRA ISR DRI BT AT gl
o |.

G AMRA bl <fRgu |

ARA & S AeHIa® Y@—aHtes |, Frafaliaa § 9 f&= = 3X1=3
®I UG Bl W SR SR S9& M folay —
i. PP IR H YU Y

i. g U dle— IR B G

iii. PIT TRI FHE U

iv. TSl T SIARTSE arg Ul

fraferRed o daa gfearea wenffal & foy mes 9e 1 37 & SX1=5
WM | §—

fo=gl dfg uei & S farRag |

(37.1) B9 WE &1 AW faRay STEr el =1 fBam o ggar
& forg Ao & |
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WS / TR

(37.2) 99 WM &7 AW foRau W@l 1927 H WRA IS U
BT AT 3T o |

wEN (3TE)

(37.3) DIt ITGA H TN R g & AW foIfRay |

HACH

(37.4) B I15¥ BT AW IRay &l g7 cAle—srawh &l @ Rerd
g |

BTG

(37.5) S 5T BT A forRay T2l difed §9g — 9= Rerd 7|
DA

(37.6) S I BT AW foIRay @l i el AR a1y oA
Rera 21

EEUEIE
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Supplementary Examination, July-2024
SUBJECT NAME: Social Science SUBJECT CODE: 087 PAPER CODE: 32/S/2
General Instructions: -

1. | You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

2. | “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board
and IPC.”

3. | Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them. In class-X, while evaluating two
competency-based questions, please try to understand given answer and even if reply is not
from marking scheme but correct competency is enumerated by the candidate, due marks
should be awarded.

4. | The Marking scheme carries only suggested value points for the answers.These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

5. | The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

6. | Evaluators will mark( \' ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.
Evaluators will not put right (v )while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

7. | If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

8. | If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

9. | If astudent has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10. | No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11. | A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12. | Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines).

13. | Ensure that you do not make the following common types of errors committed by the Examiner in
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the past:- Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14. | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (O)Marks.

15. | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16. | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17. | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18. | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the
prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.
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CBSE SUPPLEMENTARY EXAMINATION — JULY 2024
Marking Scheme
Class X -Social Science (087)
SET-32/S/2
SET-2 MM: 80
S.No. Values Points Page No. | Marks-
Section A (20X1=20)
Multiple Choice Question

1 (A) Developed 65 E 1
2 (D) Kerala 10E 1
3 (A) Primary- Mining 20E 1
4 (C) Moneylender 48 E 1
5 (C) Money obtained as interest on loan from the borrower. 42 E 1
6 (C) Itis mandatory for all the candidates to give details of 60 P 1

criminal cases on affidavit.
7 (D) Education, Forest, Marriage and Adoption 16 P 1
8 (A) Sinhalas 3P 1
9 (D) Only I and IV are correct 14 P 1
10 (D) Power is shared among different levels of governments. 8P 1
11 (A) Both (A) and (R) are true and (R) is the correct explanation |6 P 1

of (A).
12 (D) Geothermal energy 55 G 1
13 (A) Only I and Il are correct 31G 1
14 (B) Rajasthan 26 G 1
15 (C) Both (A) and (R) are true and (R) is the correct explanation |13 G 1

of (A).
16 (A) 1878 127 H 1
17 (A) Primary 20 E 1

For Visually impaired candidates only-

(A) Primary 20 E 1
18 C) HL LI v 40-42H |1
19 (D) Germany, Japan and Italy 74 H 1
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20 (B) The abolition of state imposed restrictions on the movement |9 H 1

of goods and capital.

Section B (4X2=8)
Very Short Answer Type Questions

21 Analyse the role Information and Communication Technology in | 63 E 2X1=2
making globalisation possible.

(1)  Inrecent times, technology in the areas of telecommunications,
computers, Internet has been changing rapidly.

(i)  Telecommunication facilities (telegraph, telephone including
mobile phones, fax) are used to contact one another around the
world, to access information instantly, and to communicate
from remote areas.

(iii)  This has been facilitated by satellite communication devices.

(iv) Computers have now entered almost every field of activity.

(v)  With the help of Internet, information can be obtained and
shared

(vi) Internet also allows us to send instant electronic mail (e-mail)
and talk (voice-mail) across the world at negligible costs.

(vii) Any other relevant point.

(Any two points to be analysed.)

22 Minerals are an indispensable part of our lives.” Support the | 42 G 2X1=2
statement with examples.

(i)  Almost everything we use, from a tiny pin to a towering
building or a big ship, all are made from minerals.

(i)  The railway lines and the tarmac (paving) of the roads, our
implements and machinery too are made from minerals.

(i)  Cars, buses, trains, aeroplanes are manufactured from minerals
and run on power resources derived from the earth.

(iv)  Even the food that we eat contains minerals.

(V) In all stages of development, human beings have used
minerals for their livelihood, decoration, festivities, religious
and ceremonial rites

(vi)  Any other relevant point.

(Any two points to be explained)
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23 How did measures taken by the Sri Lankan Government increase | 3 P 2X1=2

the feeling of alienation among the Tamils? Explain.

0] In 1956, an Act was passed to recognise Sinhala as the only
official language, thus disregarding Tamil.

(i)  The governments followed preferential policies that favoured
Sinhala applicants for university positions and government
jobs.

(i) A new constitution stipulated that the state shall protect and
foster Buddhism.

(iv) They felt that none of the major political parties led by the
Buddhist Sinhala leaders was sensitive to their language and
culture.

(v)  They felt that the constitution and government policies denied
them equal political rights

(vi)  Government discriminated against them in getting jobs and
other opportunities and ignored their interests.

(vii) The relations between the Sinhala and Tamil communities
strained over time.

(viii) Their demand for more autonomy to provinces populated by
the Tamils was repeatedly denied.

(ix)  Any other relevant point.

(Any two points to be explained)

24 (a) How did the silk route connect the world? 54 H 2X1=2

(1)  The silk routes are a good example of vibrant pre-modern trade
and cultural links between distant parts of the world.

(i)  Historians have identified several silk routes, over land and by
sea, knitting together vast regions of Asia, and linking Asia
with Europe and northern Africa.

(itfi)  Chinese pottery also travelled the same route, as did textiles
and spices from India and Southeast Asia. In return, precious
metals — gold and silver — flowed from Europe to Asia.

(iv) Trade and cultural exchange always went hand in hand. Early
Christian missionaries almost certainly travelled this route to
Asia, as did early Muslim preachers a few centuries later.

(V) Buddhism emerged from eastern India and spread in several
directions through intersecting points on the silk routes.

(vi)  Any other relevant point.

(Any two points to be explained)
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OR
(b) How did our foods facilitates cultural exchanges between
distant countries? Explain with any two examples.
54 H 2X1=2

(1)  Traders and travellers introduced new crops to the lands they
travelled. Even ‘ready’ foodstuff in distant parts of the world
might share common origins.

(i) It is believed that noodles travelled west from China to
become spaghetti.

(iii)  Arab traders took pasta to fifth-century Sicily, an island now in
Italy.

(iv)  Similar foods were also known in India and Japan, so the truth
about their origins may never be known.

(v) Many of our common foods such as potatoes, soya,
groundnuts, maize, tomatoes, chillies, sweet potatoes, and so
on were not known to our ancestors until about five centuries
ago.

(vi) These foods were only introduced in Europe and Asia after
Christopher Columbus accidentally discovered the vast
continent that would later become known as the Americas.

(vii) Sometimes the new crops could make the difference between
life and death. Europe’s poor began to eat better and live
longer with the introduction of the humble potato.

(viii) Any other relevant point.

(Any two points to be explained)
Section C (5X3=15)
Short Answer Type Questions
25 Explain any three challenges before Indian political parties in the | 57 P 3X1=3
present time.

(1)  Lack of internal democracy.

(i)  Political parties do not conduct regular internal election and do
not hold meetings.

(i)  Dynastic succession

(iv)  Money and muscle power

(v)  They do not seem to offer a meaningful choice to the voters.

(vi)  Any other relevant point
(Any three points to be explained.)
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26 Distinguish between renewable and non-renewable resources. 2G 3X1=3
Renewable Resources Non Renewable Resources
(i) These resources are (i) These resources get
replenished by nature. exhausted after a few
years of use and cannot
be replenished
(if) They do not have a fixed (i) There is a fixed stock on
stock. earth
(iii) These are be non (i) These are usually
conventional sources of conventional sources of
energy energy
(iv) Wind, water, solar, (iv) Fossil fuels like
plants, animals Coal, petroleum, etc
(v) These are pollution free. (V) Its usage creates
pollution.
(vi) Any other relevant point
(Any three points of difference to be explained)
27 Describe the main features of commercial farming in India. 31G 3X1=3
(i) The main characteristics of this type of farming are the
use of higher doses of modern inputs e.g., HYV seeds,
Chemical fertilizers insecticides and pesticides.
(if) It obtains higher productivity.
(iii) The degree of commercialisation of agriculture varies
from one region to another.
(iv) Example: rice is a commercial crop in Haryana but in
Odisha, it is a subsistence crop.
(V) Any other relevant point
(Any three points to be explained.)
28 (@) Analyse the economic impacts of the Non-Cooperation | 34 H 3X1=3
Movement.
(i) Boycott of Foreign Goods
(i)  Development of Indigenous Industries
(iii)  Decline in Revenue for British Companies
(iv)  Adverse impact on Government Revenue
(v)  Economic Self-Reliance
(vi)  Any other relevant point
(Any three points to be analysed)
OR
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(b) “In India, the growth of modern nationalism was intimately
connected to the anti-colonial movement.” Analyse the statement. | 29-H
(i)  People began discovering their unity in the process of their 3X1=3
struggle with colonialism.
(i)  The sense of being oppressed under colonialism provided a
shared bond that tied many different groups together.
(i) The Congress under Mahatma Gandhi tried of forge these
groups together within one movement.
(iv)  Symbols of nationalism like Bharatmata and VVandemataram
(v)  Anti-colonial movements like Non-Cooperation, Civil
Disobedience etc were directed against the British rule
(vi)  Any other relevant point.
(Any three points to be analysed.)
29 “Consequences of environmental degradation do not respect | 16 E 3X1=3
national or state boundaries.” Explain the statement with
examples.
(i)  The issue of environmental degradation is not region or nation
specific as our future is linked together.
(i) Scientists, economists, philosophers and other social scientists
are working together in this area.
(iii)  Global warming caused due to greenhouse effect gases and
ozone layer depletion is threatening the whole world.
(iv)  Polluting of water bodies is another serious issue which again
needs joint efforts.
(v)  Any other relevant point.
(Any three points to be explained.)
Section D (4X5=20)
Long Answer Type Questions
30 (a) Explain the aims of Treaty of Vienna of 1815. 11H 5X1=5
(i) Treaty of Vienna of 1815 was drawn up with the object of
undoing most of the changes that had come about in Europe
during the Napoleonic wars.
(i)  The Bourbon dynasty, which had been deposed during the
French Revolution, was restored to power, and France lost the
territories it had annexed under Napoleon.
(iii) A series of states were set up on the boundaries of France to
prevent French expansion in future.
(iv)  Kingdom of the Netherlands, which included Belgium, was

Get More Learning Materials Here : & m &N www.studentbro.in



set up in the north and Genoa was added to Piedmont in the
south.

(v) Prussia was given important new territories on its western
frontiers

(vi)  Austria was given control of northern Italy.

(vii)  Russia was given part of Poland while Prussia was given a
portion of Saxony.

(viii)  German confederation of 39 states that had been set up by
Napoleon was left untouched.

(ix)  The main intention was to restore the monarchies that had
been overthrown by Napoleon and create a new conservative
order in Europe.

(x)  Any other relevant point.

(Any five points to be explained)

OR
(b)How did the Greek war of independence mobilise
nationalist feelings among the educated elite across
Europe? Explain. 13H 5X1=5

(i) An event that mobilised nationalist feelings among the
educated elite across Europe was the Greek war of
independence.

(ii) Greece had been part of the Ottoman Empire since the
fifteenth century. The growth of revolutionary nationalism in
Europe sparked off a struggle for independence amongst the
Greeks.

(iii)  Nationalists in Greece got support from other Greeks living in
exile and also from many West Europeans who had sympathies
for ancient Greek culture.

(iv) Poets and artists lauded Greece as the cradle of European
civilisation and mobilised public opinion to support its struggle
against a Muslim empire.

(v)  The English poet Lord Byron organised funds and later went to
fight in the war, where he died of fever in 1824.

(vi) Finally, the Treaty of Constantinople of 1832 recognised
Greece as an independent nation.

(vii) Any other relevant point.

(Any five points to be explained)
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31 (a) Explain the rising importance of the tertiary sector in India. 24 E 5X1=5

(i) In any country several services such as hospitals, educational
institutions, post and telegraph services, police stations, courts,
village administrative offices, municipal corporations, defense,
transport, banks, insurance companies, etc. are required. These
can be considered as basic services.

(i) In a developing country the government has to take
responsibility for the provision of these services.

(iii) The development of agriculture and industry leads to the
development of services such as transport, trade, storage and
the like.

(iv)  Greater the development of the primary and secondary sectors,
more would be the demand for such services.

(v)  As income levels rise, certain sections of people start
demanding many more services like eating out, tourism,
shopping, private hospitals, private schools, professional
training etc.

(vi)  Over the past decade or so, certain new services such as those
based on information and communication technology have
become important and essential. The production of these
services has been rising rapidly.

(vii)  Any other relevant point.

(Any five points to be explained)

OR

(b) Explain the difference between organised and unorganised
sectors. 30E 5X1=5
Organised Unorganised

(1) Covers those enterprises or | (i) The unorganised sector is
places of work where the terms of | characterised by small and
employment are regular. Therefore | scattered units which are
people have assured work largely outside the control of
the government.

(i) They have to follow some rules | (i) There are rules and
and regulations which are given in | regulations but they are not
various laws such as Factory Act, | followed

Minimum Wages Act, Payment of
Gratuity Act, Shops and
Establishments Act etc

(iii) It is called organised because it | (iii) This sector includes a

Get More Learning Materials Here : & m &N www.studentbro.in



has some formal
procedures.

processes and

large number of people who
are employed on their own
doing small jobs such as
selling on the street or doing
repair work. They do not

follow any formal
procedure.
(iv)  Workers in the organised | (iv) Jobs are low-paid and
sector enjoy security of | often not regular.
employment Employment is not secure.

People can be asked to leave
without any reason

(v) They are expected to work only
a fixed number of hours

(v) There are not fixed
working hours

(vi) If they work more, they have to
be paid overtime by the employer.

(vi) There is no provision for
overtime

(vii) They also get several other
benefits from the employers

(vii) No extra benefits are
given

(viii) They get paid leave, payment
during holidays, provident fund,

gratuity etc

(viii) The workers do not get
paid leave, holidays, leave
due to sickness etc

(ix) Any other relevant point.

(Any five points of difference to be explained)

32

(@ How does democracy help

in economic growth and

development of a country? Explain with an example.

(i) It is expected from the democratic government to fulfill basic

facilities.

(i)  Democratic governments provide support to all the sections of

society through public welfare schemes.
(iii)  Democratic governments are expected to prepare economic

policies according to the need of all the sections of the society

as the value of votes of all the individuals is equal.

(iv)  Democratic government introduces schemes for food security,

employment generation, poverty eradication etc

(v)  Democratic governments try to minimize the economic

disparity among its citizens.

(vi)  They develop infrastructure for better economic growth.

Any other relevant point.

(vii)

(Any five points to be explained)

67 P 5X1=5
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OR

(b) How does democracy stand much superior to any other form

of government, in respect of women dignity? Explain with 71p 5X1=5
examples.
(i)  Sensitivity towards gender equality in a democratic society is
created.
(i)  Democracy makes it easier for women to get equality.
(iii)  Ina democratic set up, gender discrimination does not have
any legal basis.
(iv)  Inademocracy, women enjoy equal rights, including the Right
to vote.
(v)  Insome democratic countries, seats are reserved for women in
legislatures.
(vi)  Any other relevant point.
(Any five points to be explained)
33 (a) Explain the significance of industries in the Indian economy. |58 G 5X1=5

(1)  Industries not only help in modernising agriculture, which
forms the backbone of our economy.

(i) They also reduce the heavy dependence of people on
agricultural income by providing them jobs in secondary and
tertiary sectors.

(iii)  Industrial development is a precondition for eradication of
unemployment and poverty from our country.

(iv) It was also aimed at bringing down regional disparities by
establishing industries in tribal and backward areas.

(v)  Export of manufactured goods expands trade and commerce,
and brings in much needed foreign exchange.

(vi)  Countries that transform their raw materials into a wide variety
of finished goods of higher value are prosperous. India’s
prosperity lies in increasing and diversifying its manufacturing
industries as quickly as possible.

(vii) Any other relevant point.

(Any five points to be explained)

OR
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(b) How are industries responsible for air pollution? Suggest any | 66 G 2+3=5

three measures to control it.

(1)  Air pollution is caused by the presence of high proportion of
undesirable gases, such as sulphur dioxide and carbon
monoxide.

(i)  Airborne particulate materials contain both solid and liquid
particles like dust, sprays mist and smoke.

(ili)  Smoke is emitted by chemical and paper factories, brick kilns,
refineries and smelting plants

(iv) Burning of fossil fuels in big and small factories that ignore
pollution norms.

(v)  Toxic gas leaks can be very hazardous with long-term effects.

(vi)  Any other relevant point.

(Any two points to be explained) (2X1=2)

Particulate matter in the air can be reduced by-

(i)  fitting smoke stacks to factories, with electrostatic precipitators

(if)  fabric filters

(iii)  scrubbers and inertial separators.

(iv) Smoke can be reduced by using oil or gas instead of coal in
factories.

(v)  Any other relevant point.
(Any three points to be explained) (3X1=3)

Section E (3X4=12)
CASE BASED QUESTIONS
34 Read the given source and answer the questions that follow: 39P 1+1+2=4

Social and Religious Diversity

The Census of India records the religion of each and every Indian
after every ten years. The person who fills the Census form visits
every household and records the religion of each member of that
household exactly the way each person describes it. If someone
says she has ‘no religion’ or that he is an ‘atheist’, this is exactly
how it is recorded. Thus we have reliable information on the
proportion of different religious communities in the country and
how it has changed over the years. The record shows the
population proportion of six major religious communities in the
country. Since Independence, the total population of each
community has increased substantially.
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(34.1) At what interval is census conducted in India? (1)
10 Years

(34.2) Why are India census data considered reliable? (1)

(i) The person who fills the Census form visits every household and
records the religion of each member.

(i1) Any other relevant point.

(Any one point to be explained.)

(34.3) How is the census an important tool to understand the

social diversity in India? (2x1=2)

(i) Census gives reliable information on the proportion of different

social communities in the country and how it has changed over the

years.

(i1) The record shows the population proportion of six major religious

communities in the country.

(iii) Any other relevant point.

(Any two points to be explained.)

35 Read the given source and answer the questions that follow: 108 H 1+1+2=4
Jikji

The Jikji of Korea is among the world’s oldest existing book printed

with movable metal type. It contains the essential features of Zen

Buddhism. About 150 monks of India, China and Korea are

mentioned in the book. It was printed in late 14™ century. While the

first volume of the book is unavailable, the second one is available in

the National Library of France. This work marked an important

technical change in the print culture. That is why it was inscribed on

the UNESCO Memory of the World Register in 2001.

(35.1) Mention the significance of the Jikji in the history of
printing. Q)

(i) The Jikji of Korea is among the world’s oldest existing book
printed with movable metal type.

(i1) Any other relevant point.

(Any one point to be explained.)

(35.2) Why was the Jikji inscribed on the UNESCO Memory of
the World Register in 2001? (1)

(1) This work marked an important technical change in the print
culture. That is why it was inscribed on the UNESCO Memory of the
World Register in 2001.

(i1) Any other relevant point.

(Any one point to be explained.)
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(35.3) How does the Jikji contribute to the understanding of Zen

Buddhism? (2x1=2)

(1)Jikji contains the essential features of Zen Buddhism.

(i1) About 150 monks of India, China and Korea are mentioned in the

book.

(iii) Any other relevant point.

(Any two points to be explained.)

36 Read the given source and answer the questions that follow: 14 E 1+1+2=4
Sustainability of Development

“Recent evidence suggests that the groundwater is under serious

threat of overuse in many parts of the country. About 300

districts have reported a water level decline of over 4 meters

during the past 20 years. Nearly one-third of the country is

overusing their groundwater reserves. In another 25 years, 60

percent of the country would be doing the same if the present way

of using this resource continues. Groundwater overuse is

particularly found in the agriculturally prosperous regions of

Punjab and Western U.P., hard rock plateau area of central and

south India, some coastal areas and the rapidly growing urban

settlements.”

(36.1) Explain the meaning of Sustainability of Development.
1)
(i) Sustainable development means ‘development should take place
without damaging the environment and development in the present
should not compromise with the needs of the future generations.
(ii) Any other relevant point
(Any one point to be explained)

(36.2) Describe the serious threat caused by overuse of
underground water. (1)
(1) Recent evidence suggests that the groundwater is under serious
threat of overuse in many parts of the country.
(i) About 300 districts have reported a water level decline of over 4
meters during the past 20 years.
(iti) Any other relevant point.
(Any one point to be described.)

(36.3) Mention any two suggestions for the farmers to reduce the
overuse of the groundwater in agriculture. (2x1=2)

(1) Change in crop pattern.

(i1) Use of newer techniques of irrigation like sprinkler, drip irrigation
etc.
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(iii) Any other relevant point.
(Any two points to be mentioned.)
Section F (2+3=5)

Map Based Questions

37 (@) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 23). Identify these places with the
help of the following information and write their correct names
on the lines drawn near them:

(i) The place where Gandhiji organized Satyagraha to help the 1
peasants.

(if) The place where the session of the Indian National
Congress was held in 1927.
(PLEASE SEE ATTACHED MAP FOR ANSWERYS)

(b) On the same political outline map of India, locate and label any 3x1=3

three of the following with suitable symbols :

(i) Leading Coffee-producing State
(i) Durg: Major iron ore mines
(iii) Kochi: Major sea port
(iv) Rajiv Gandhi International Airport
(PLEASE SEE ATTACHED MAP FOR ANSWERS)
Note: The following questions are for the Visually Impaired 5x1=5

Candidates only, in lieu of Q. No. 37.

Attempt any five questions.

(37.1) Name the place where Gandhi Ji organized Satyagrah to help

the peasants. - KHEDA/ CHAMPARAN 1
(37.2) Name the place where the session of the Indian National

Congress was held in 1927. - MADRAS (CHENNAI) 1
(37.3) Name the leading Coffee-producing state of India. -

KARNATAKA 1
(37.4) Name the state where Durg iron-ore mines are located.-

CHATTISGARH 1
(37.5) Name the state where Kochi sea port is located.- KERALA 1

(37.6) Name the place where Rajiv Gandhi International Airport is
located.- HYDERABAD 1
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